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If the diameter of the circle is 1524 we make the square with the same area.
Then the length of the square become 8sun 8bu grin-

And if the length of the square is 1572k we make the circle with the same area
as the square.

Then the diameter of the circle become 11.284.

If the circle whose diameter is15u the length of square becomes 8bugringmou

If the circle whose diameter is 1547 5buthe length of square becomes 1sun3bugrin
If the circle whose diameter is 2527 the length of square becomes 1sun7bu7zin

If the circle whose diameter is 2547 5buthe length of square becomes 2sun2bugrin
If the circle whose diameter is 3su2the length of square becomes 2sungbu@rin

If the circle whose diameter is 3547 5buthe length of square becomes 3sun1bu

If the circle whose diameter is 45u2the length of square becomes 3sun5bugrin

If the circle whose diameter is 557 the length of square becomes 4sungbugrin

If the circle whose diameter is 6522 the length of square becomes 5sungbugrin

If the circle whose diameter is 7su2the length of square becomes 6su12bu

If the circle whose diameter is 8su2the length of square becomes 7sungrin

If the circle whose diameter is 9su7the length of square becomes 7sungbugrin

If the circle whose diameter is 192kt the length of square becomes 8sun8bugrin
If the circle whose diameter is 15v#ku 1sunthe length of square becomes 9sun7bu5rin

If the circle whose diameter is 1¥aku 2sunthe length of square becomes
1syakuGbu3rin
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Even in the case of the reversed it consists of a formula.
%) When I measure the length of one side of the squares appeared in the right
with the back of the carpenter’s square the length is diagonals of the square.
And when I measure the length of the square with the normal side of the
carpenter’s square the length are one side of squares.
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This Sangaku makes the corner of the area of the mark and the same area and is the problem
for one side of the corner . Through this activity , | think that the old person might enjoy that |
associate with mathematics . With will, | mentioned native mathematics of Japan and
increased knowledge and shared the knowledge together and thought that | should be able to
raise it.
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With will, | mentioned native mathematics of Japan and increased knowledge
and shared the knowledge together and thought that | should be able to raise it.
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<How to make the square whose area is same with a circle>
When you make the square whose area is same with the circle whose_—
“@”’ , one side of length of the square becomes ‘_m

SR - English Transtation-

length of diameter is “a
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At the time of length of diameter is 1shaku

==8,862269254527581...
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If 10 means 1shaku | 8 862 means 8sungbugrin,
In other words, the length of one side of the square whose area is
same with the circle whose diameter is 1shaku js gsungbugrin,
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Through this activity, | was able to taste sense of A.D.1730
accomplishment when pleasure and it which untied it by

cooperating with a difficult problem together, and wrestling EE - AE BE

came loose. Then | can know the way of thinking of the old
person by mentioning native mathematics of Japan for the first
time and think that it was had an experience of being allowed to
be able to calculate it by an old unit.
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